11)

Absolute value of 8 is

Absolute value of 3 is

Absolute value of 6 is

Absolute value of -8 is

Absolute value of 5 is

Absolute value of 10 is

2)

4 )

6 )

8 )

10 )

12)

Absolute value of 3 is

Absolute value of 4 is

Absolute value of -8 is

Absolute value of -1 is

Absolute value of 3 is

Absolute value of 2 is



11)

13)

15 )

17 )

19)

50

Select the greatest integer

-78

39

83

33

30

87

81

38

64

81

19

78

87

51

-22

54

65

67

48

2)

10 )

12 )

14 )

16 )

18 )

20 )

-90

39

33

73

19

29

56

69

17

-15

44

-32

58

94

45

45

o4

74

54

27

59

-10

52



Write the correct comparison symbol ( >, < or =) in each box

1) 87
2) -953
3) -2,577
4) 194
5) -456,843
6) -2,455
7) -497
8) 343
9) -99

10) 173,702

82

-208

-2,174

658

-598,924

-4,178

-171

315

-78

908,518

11) -26,576

12) 744,450

13) 19,966

14) -86

15) -89,105

16) 7,795

17) -75

18) 3,108

19) 165,687

20) 40,727

-32,373

212,678

27,446

-33

-99,244

8,624

-99

8,618

972,775

16,612



